NEC
MultiSync UX552 .

Contents / Inhalt / Contenido / Sommaire / Sommario / ¥ 58 | ZT& Y22 / <l siaal

* Video Signal Cable (DisplayPort cable)

 Signalkabel (DisplayPort-Kabel)

* Cable de sefal de video (cable DisplayPort)

e Cable de signal vidéo (cable DisplayPort)

» Cavo segnali video (cavo DisplayPort)

 WSH1E S (DisplayPort %)

o H|C|2 M= A 0| = (DisplayPort 70| &)
(DisplayPort JS) sl 5 L3 JS o

e LCD monitor  * Monitor LCD * Video Signal Cable (HDMI cable)
o LCD-Monitor o MEBIEINER * Signalkabel (HDMI-Kabel)

 Monitor LCD e LCD 2LIH e Cable de sefal de video (Cable HDMI)
e Moniteur LCD LCD 4dli « e Cable de signal vidéo (Cable HDMI)

e Cavo segnali video (Cavo HDMI)

o MINIES 4% (HDMIEESE)

e HIC|2 &S A0 E(HDMI 70| &)
(HDMI) sl 5,5l JS o

d

rope

YLLK

* Power cord™’ * Screw with washer (M4 x 10) * microSD card slot cover e Clamp
¢ Netzkabel* e Schraube mit Unterlegscheibe (M4 x 10) ¢ Abdeckung fir Steckplatz der micro-SD-Karte ¢ Klemme
e Cable de alimentacion*' e Tornillo con arandela (M4 x 10) e Tapa de la ranura para tarjeta microSD e Abrazadera
e Cordon d’alimentation*' e Vis avec rondelle (M4 x 10) * Couvercle de logement pour carte microSD e Fixation
e Cavo di alimentazione*' e Vite con rondella (M4 x 10) ¢ Copertura slot scheda microSD e Morsetto
o BIRLZ™ o TEERJIRZZ (M4 x 10) * microSD+ &% * EER
o M PEX o QM S LIAFH(MA x 10) e microSD 7= &€& FHH o ZA T
AL JS . (M4 x 10) U saba o il gla jlana o microSD 4dla; 4a% clae o i o
e Thumbscrew for optional stand e Wall Mount adapter screw (M6 x 35)
¢ Réandelschraube flr optionalen Standfu3 e Schrauben fir Wandmontageadapter (M6 x 35)
e Tornillo de mariposa para el soporte opcional ¢ Tornillos para adaptadores de montaje en pared (M6 x 35)
¢ Vis a oreilles pour le support facultatif * Vis pour adaptateur dédié au montage mural (M6 x 35)
* Vite a testa zigrinata per il supporto opzionale  Vite adattatore per montaggio a parete (M6 x 35)
o AIENREE IR HEAR 2L o BEARRRESHIEL (M6 x35)
o (MEHY HHEICHE LH[LIAL o H MR =7 O{EHE LIAH(MS6 x 35)
@obaaY) Jeall algy) alsle jlanss o (M6 x 35) Lilall o cudfill 2 5 jlasss o

* Spacer

‘ ‘ * Abstandshalter
‘ ‘

LAN cable @ @ * Wall Mount adapter
LAN-Kabel * Wandmontageadapter

Cable LAN ¢ Adaptadores de montaje en pared
Céble LAN @ @ e Adaptateur pour montage mural

e Distanciadores
e Séparateurs

* Distanziale e Cavo LAN * Adattatore per montaggio a parete
By . W% s BEARRERESH
o AHO|M * LAN#O| 2 o H MA =+ OHH

selie £ 22e o 3 JIS o Lilall e cudill {lea o

1



Setup Manual | « Manuale di montaggio * DC plate 32 (for service)

Setup Manual =
¢ Installationsanweisung Q
¢ Manual de configuracion o

e Manuel de configuration

DC plate 45 (for service)
DC-Platte 32 (fiir Service) DC-Platte 45 (fiir Service)

Placa CC 32 (para servicio) Placa CC 45 (para servicio)
Plague DC 32 (pour maintenance) * Plaque DC 45 (pour maintenance)
Piastra CC 32 (per I'assistenza) ¢ Piastra CC 45 (per I'assistenza)

* ZRTFHM

. AP YA

eyl daly e

*1

*1

*1

*1

*1

*1

*1

DC # 32 (FFH#1&) DC R 45 (FFH#1&
DC Z30|E 32(MH[AE) DC Z3(0|E 45(MH[AE)
(Qaiil) TY il lall dasl o (Jasl) £0 aiual il dasyl o

Remember to save your original box and packing material to transport or ship the monitor.
Bewahren Sie den Originalkarton und das Verpackungsmaterial fir spatere Transporte des Monitors auf.
Recuerde conservar la caja y el material de embalaje originales para poder transportar el monitor en el futuro.

N’oubliez pas de conserver la boite et le matériel d’emballage d’origine pour le cas ou vous seriez amené a transporter ou a
expédier le moniteur.

Conservare la confezione e il materiale di imballaggio originali per trasportare o spedire il monitor.

FRBEMRIEERESRMA, UWEEEETH.
EY At M E HE| X T OE 2450 S0 ZLEHE S8 O ASsHA 2.

L@_Am}‘ MLA” _\.\GLQ.A\MY A_u:u“ A\y}d‘ay\ b}.\ﬂhhﬂ.\m u\ )S.\.: *

Type and number of power cords included will depend on the country where the LCD monitor is to be
shipped. When more than one power cord is included, please use the power cord with the plug style that
matches the power socket where the monitor is located. The compatible power cord corresponds to the
AC voltage of the power outlet and has been approved by, and complies with, the safety standards in the
country of purchase.

Anzahl und Typ der im Lieferumfang enthaltenen Netzkabel hdngen davon ab, wohin der LCD-Monitor geliefert wird. Wenn mehr als
ein Netzkabel enthalten ist, verwenden Sie bitte das Netzkabel mit dem Steckertyp, der zu der Netzsteckdose passt, an der sich der
Monitor befindet. Das kompatible Netzkabel entspricht der Netzspannung der Steckdose und wurde im Kaufland zugelassen und
entspricht dessen Sicherheitsstandards.

El nimero y el tipo de cables de alimentacion incluidos dependen del destino de entrega del monitor LCD. Si se incluyen varios
cables de alimentacion, utilice el cable de alimentacién con el tipo de enchufe que se corresponda con la toma de corriente en la
que se ubique el monitor. El cable de alimentacién compatible corresponde a la corriente alterna de la salida de alimentacion, esta
homologado y cumple con las normas de seguridad del pais donde se adquiera.

Le type et le nombre de cordons d’alimentation inclus seront fonction du lieu de destination du moniteur LCD. Lorsque plusieurs
cordons d’alimentation sont inclus, veuillez utiliser le cordon d’alimentation avec le style de fiche qui correspond a la prise de
courant ou se trouve le moniteur. Le cordon d’alimentation compatible correspond a la tension CA de la prise électrique et a été
approuvé et est conforme aux normes de sécurité dans le pays d’achat.

Il tipo e la quantita di cavi d’alimentazione forniti in dotazione dipendera dalla destinazione di spedizione del monitor LCD. Quando
e incluso piu di un cavo d’alimentazione, usare quello con la spina adatta alla presa di corrente dove & posizionato il monitor. Il
cavo di alimentazione compatibile soddisfa i requisiti CA della presa di corrente, & conforme ed & stato approvato dagli standard di
sicurezza del paese d’acquisto.

Mite IR R EN AR B TRAHEXEME. HWHS FRIFRER, BEMBEIMXSETRMAEEIRE
FEFECECRY IRk . ZRABIRESBIRME OMZREENE, FEMEMIER (X)) HAFTBEFSHER 2R
38

2H MSE=E MY 229 SF2 V4= LCD ZUE I AEE = 710 Met thELH M3 ZEJFF 4 ol MSE = 89,
ZLEE MEste ME 22 LR[S f =221 defe MY TEE MESHIA 2. st 7ttt M ZE= JE 2WES AC
Hetol Hefstl, MES S It HET|ES 528 HU2H 0| F E4 LI

éﬂ\w&\&y@ﬁuulJ.\SA.\M\@)J‘J;UMLLJJSUA}S‘d\.&)\dL;LsésLCDu_nLuLmA_J\u@dﬂ\uﬁd\shudmjuﬂ\ﬁu\u)ust)&;ﬁ)h "
Lg_\ﬂz\.uld\MM\)M\:.A&ADS\)MJJ.\S}JUA\MU}SJJQLH\MJAM\JL\J\A@.&&A@B\M\HLH|JASQQ\)M LILEN aa 58 Cus A8k date iy



